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7. Two squares are inscribed in an isosceles right-angled triangle (% "% &

A5) as shown in the figure at the right, such that each vertex lies

on the side of the triangle. The area of these isosceles
right-angled triangles is 90 square units. What is the
difference of the two shaded portion? =
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11. Using 2 pieces of wire with the length of 3 dm, 4 dm
and 5 dm each to enclose a hexagon shape (= £ 35) 3
as shown in the diagram at the right such that the A 3
parallel sides are of the same lengths, the angle of those >

two wires with lengths of 3 dm and 4 dm will form a right angle. What is

the greatest possible area of this hexagon?
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